Aga Khan University Examination Board
Notes from E-Marking Centre on SSC-I General Mathematics Examination May 2017

Introduction

This document has been produced for the teachers and candidates of Secondary School
Certificate (SSC-1) General Mathematics. It contains comments on candidates’ responses to
the 2017 SSC-I Examination indicating the quality of the responses and highlighting their
relative strengths and weaknesses.

E-Marking Notes

This includes overall comments on candidates’ performance on every question and some
specific examples of candidates’ responses which support the mentioned comments. Please
note that the descriptive comments represent an overall perception of the better and weaker
responses as gathered from the e-marking session. However, the candidates’ responses shared
in this document represent some specific example(s) of the mentioned comments.

Teachers and candidates should be aware that examiners may ask questions that address the
Student Learning Outcomes (SLOs) in a manner that require candidates to respond by
integrating knowledge, understanding and application skills they have developed during the
course of study. Candidates are advised to read and comprehend each question carefully
before writing the response to fulfil the demand of the question.

Candidates need to be aware that the marks allocated to the questions are related to the
answer space provided on the examination paper as a guide to the length of the required
response. A longer response will not in itself lead to higher marks. Candidates need to be
familiar with the command words in the SLOs which contain terms commonly used in
examination questions. However, candidates should also be aware that not all questions will
start with or contain one of the command words. Words such as ‘how’, ‘why’ or ‘what’ may
also be used.

Key observations:

Weaker responses revealed that candidates had problems with conversion of verbal phrases
into the mathematical operations to solve problems. In general, questions based on direct and
inverse proportion, profit and loss, laws of logarithm and indices were not well attempted.
However, questions related to zakat and usher, simple interest, operation on sets, statistics
and Venn diagrams were generally well attempted.
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Detailed Comments:

Question 1

This was not a well attempted question.

Question 1:

y is inversely proportional to (x + 3).

Write down an expression for y in terms of x and a constant k.

Giventhat y =4 when x =3, find y when x =45.

Better responses reflected clear understanding of inverse proportion. Candidates formed the

equation y = ﬁ successfully. The data given in the question was correctly used to find
X+
the value of k, which was substituted back in the equation to find y when x = 45
Example:
Write down an expression for v in termns of x and a constant &, (1 Mark)
1
g ot Axrd) _ _
Yo X _
ot
ii.  (Hwventhar 3 =4 when -3, find ¥ when 1 =45, (2 Marlks)
q = K. i K -
Y oxa3 3 X3
= 4 Yy = aH
3+3 T.oug
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Weaker responses reflected that candidates could not translate ‘y is inversely proportional to
(x +3) . The most frequent incorrect response was y = k(x +3). Some candidates did not use
the given data correctly and made minor mistake in finding the answer.

Example:
i. Write down o expression for ¥ in dermes of x and & constant & i1 hlark)
I
Yoo K D)
B L)
a2y
1. Giventhar vy =4 wlhen x =3 find y when x=45. {2 Marks)
i‘iﬁdlﬁal U wovVeEn nl- Us
J Jd
_ R G i)
L — -
e B [y ’Sj
i e
4o 1%5
|
Question 2:

This question offered a choice between part a and b. Both parts were attempted equally but
the performance in part b was better as compared to part a.

Question 2a:

The total amount of zakat paid by two brothers Ahmar and Bilal is Rs 50,000. If Ahmar paid
zakat of Rs 23,000 on his yearly savings, find the

I. amount of zakat paid by Bilal.
ii.  yearly savings of Ahmar and Bilal separately.

iii.  ratio of zakat paid by Ahmar and Bilal.
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Better responses of part i and ii reflected the understanding of calculation of zakat on yearly
savings. Candidates were able to find savings when they were given zakat.

In part iii, candidates exhibited correct application of ratio.

Example:

i, amount of zakal paid by Bilal, (1 Mark)

T:;L:l amuunil-wg lakal P:ué — 2akal peid ]""1 Mhrray = Jakalal
fe (F:,D 860D - 23, c.uc:j - Rg 31.ecn wihe mﬂl:.uﬁ*c rs'%}n‘,:hg‘llﬂlj@

it,  vearly savings of Ahmar and Bilal separafely. (2 Marks)

ead € tvj[ Aberac = Zakol yieo = 330001100 - Re 428,509
dx — ——

-ICMH‘ C&ulnqri;UP Bilal = Eaka‘f (W = 37,000 xled = Bg \®,20,000
a5 D5

iti,  ratio of zakat paid by Ahmar and Bilal (1 Mark)
Array Eill-r.:.'u = Ad3eke : J1meds
fakic of 2akal paid Ly feparedd . 23 . 27
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Weaker responses exhibited that candidates did not understand how to use the given
information to extract the answer. Many of them assumed that the values given in the
question is the annual saving instead of the amount of zakat. This also shows their weak

understanding of percentage.

Example:

i. ameunt of zakat paid by Bilal, (L Mark)

Tobad 2aral - 2akat Paid oy Pamar o
ks Cﬁﬂ;,oc;p—- £ 2?:;0{:-::9 = P& 27,000 Bilced pord

ii.  vearly savings of Ahmar and Bilul separately, (2 Marks)
Ahmat = PR/ § amnval couvnae | Rilal= Babe 78 anroal ¢avingg
: 5. 5"1 s ﬁﬁ?u |I =25 %) U;z.s, 27,500
c 25 f‘;é- SQ:,TE;QBTE (00
160 c ps )ty =P £9G
i1 Wlarl)

iii.  rauo of zakat paid by Alunar and Bilal.

R 23,000 @ PL 20, B0
22 27

Question 2b:

Shahid possesses a property worth Rs 500,000 and wishes to distribute his property among his
legal heirs that include 1 son and 3 daughters. The son gets two times as much as a daughter gets.
Find the amount distributed to each legal heir.

Better responses reflected that candidates could easily understand that the required fractions
were ¥4 and % which were used to find the answer.

Example:
_ . Son : bowhlixy t Boudalinz boaughdds .
;mn:- a bl i - i . I = 5
Som Shaue = 2 ¢ Hoo oo
)
* d,.om ona-

Dougitis thoses L 25 oo ec0 B
5 Lo
= j_u_ugm {an.h M.lﬂ- Chare ) . o .
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Weaker responses reflected that candidates had difficulty deciding the ratio because they
could not express the condition ‘The son gets twice as much as a daughter gets’

mathematically. Most of the candidates found the correct ratio for son but could not find the
correct ratio for daughters.

Example:
_ L o W R oo
Soenoh vaios 2111l Bua = T g eseobo9e
s = T 5661000 . 200 'o0o.
- BRRR% .3 Dwve ooy usitl ﬂe’(
= B g
eatn Aivi= |, 37%%R.3 |
= C.Léi.. L eaatnavy .
uf:'m“ﬂlei" 4 |
4
Question 3:

This question offered a choice between part a and b. Both parts were equally attempted and
the performance in both parts was average.

Question 3a:

Rabia bought three cars X, Y and Z for a total of Rs 15,000,000. The prices for X, Y and Z are
Rs 5,000,000, Rs 7,500,000 and Rs 2,500,000 respectively.

i.  She sold all three cars at an overall profit of 15%. Find the profit she made.

In the above deal, she made a profit of 12% on car X and a profit of 10% on car Y.
Calculate the profit she made on car Z.
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Better responses reflected that the candidates, who correctly translated the given condition,
mathematically were able to get the solution. In part i, the prices of X, Y and Z were added
and then 15% of profit was found. In part ii, the individual profit on X and Y was calculated,
and subtracted from the total profit to find the profit on Z.

Example:

i"} =t so]d a]l&m: CHTS 35115 owveeall profit of 15%, Find the profit she made, 2 Marks)
Y yo!

L

= (9% 18000 o080 , 2370000
oo

it.  Inthe sbove deal. she made a profit of 12% on car X and a prafil of 10% on car ¥
Calculate the profit she made on car £, (3 hlarks)

Cox X =12 7 & (OO0 :;Q.i-:-’DDO Q0 :ﬂDQ’t o (Avy
Lav Y= 1DY »7C00000 17 fDOODpwﬁ Y o (o Y
'TCcmoe > 6OOOD0C. 127 0n0Y
Con 2 pusfit =Telrod vl it — Canl f sund Ypeoly e
2 220000~ 1100000 = 400000

2.9 %moou profit wor wode on Cow 2,

Weaker responses reflected that most of the candidates used incorrect mathematical models
to find the answer. While most of the candidates were able to solve part i, errors were
frequent in part ii while finding the profit on car X and Y. Candidates did guess work after it
and could not work out how to find the profit on Z.
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Example:

i Yhe sold al) three cars at an overall prof of 153%. Find the peodic she made, §2 Marks)

Pl ik 2 Bkt of co 22255600 ~ IS ati0

- I{‘.' ¥ ‘{imﬂ e len) - 1115005'& Q.ﬁ_ . -
|00 JoPedl e mmeck v TS 000ep e

1. Inche abowve deal, she made o profit of 2% on ear X und a profl ol 10% oo car ¥

Calealate the profit she made on car £ . (3 Marks)
Xz 1y of Secopos 511250060 bs
= 12 X 1500g,00 el e LV
= '"C1gom0oe = NSeees = 1095000+ 18 0Me
= lo45 0000 8 = 222066000 - 1717150080
Y= 107 of 1S00s,000 = Q4Cooes Re
= 1500000 -1 UM Conob - - the medediCo000 s bt on corx

Question 3b:

The price of each scoop at an ice cream parlour is Rs 85. They offer the following discounts.

DISCOUNT OFFER 1:
BUY A CUP OF TWO SCOOPS, GET 10% OFF
DISCOUNT OFFER 2:

BUY A CUP OF THREE SCOOPS, GET 20% OFF

If Ahad, Waqar and Nasir buy a cup of 3 scoops, 2 scoops, 1 scoop respectively from this
parlour, then find the

i. total amount of their bill.
il. bill if there was no discount offered.

iii. total discount availed due to the offers.

Page 8 of 29



Better responses reflected that candidates were able to understand the given discount offers
and how the three friends used these offers in their order. They could easily find the total
amount of bill as per the given discount offers, i.e. Wagar availed discout offer 1, Ahad
availed discount offer 2 while Nasir did not avail any offer so he got no discount.

Example:

1. total armoamt of theic hill. [3 Mlarks)

el o Zsmop = A0 f sk %5 = R.AI
= RICT— Rl = E:-QEEI

D 8 ok 2 tcowps = 0 of 1F0 = K13
= R.gp — K 13 = Re.153

» em ot ¥ ooepep = B CE
Tobal & = R 204 4+ B 153 + &.85 = Ruayy Awen,

i, WilliYehere was no discomnt offered. i Mark)

D &l sk 3 ccoppe ~BASS
) Bl of 2 Swoeps = R170

Ly & ok 4 geoop RIS L
ol &1k mo dicoont sfbored = &pT 130 & & = Re.EIQ By

i, tolaldiscount availed due o the oflers, {1 Mark)
Totat  Ahepgrk = Big— Hy 32
= K¢ &F
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Weaker responses reflected that candidates used the percentages given in the offer, i.e. 10%
and 20% to find the amount of bill in part i which is wrong because these percentages give
discounts. It was evident from candidates’ responses that they were not able to correctly
translate the situation mathematically. Hence, a lot of guess work was also observed.

Example:
i Llal armiunl of their bill. (3 Marks)
L Amow ﬁt._fw R
55
) = 25 5
AT
- o wa8%
-t #) = : A e 255
A3
- ol _Amewor - Dixcant
o — &4 5T

;g — 7 = A
WAal ArK s = EEEYS5H

H,  billif there was oo discount offared. (1 Mark)

| Awoun? @ T iy 38585

Awmvurd g 2 Sengne i 7 170
Amouns gg 1 Seoqps ix = £5 .

L5 A IP S
5io

ifl.  total discoume availed doe to the ollers, (1 Mark)
| Bisenont of 3 Saxys fr = 29 2

| Dotenon? GF 24ty Sconp sk < 20
I 25 P 5

Page 10 of 29



Question 4:

Candidates exhibited good performance in this question.

Question 4:

Zeeshan wants to buy a microwave oven that costs Rs 16,000. He would make a down payment

of 30% followed by 5 equal monthly instalments. Calculate the instalment of each month.

Better responses exhibited the understanding of down payment monthly instalments.
Candidates used the given data to first find 30% down payment and then the 5 equal monthly

instalments.

Example:

Ounent Lo flepo

doun ‘fa,Jmf = 2oF

= oo K:i{?

e

. Y rmo

_ Yemanining amowts (Bepo -YY40o 2 lidvo

W

Mi’h“—%‘?’ FHEfJM: ”Eﬂ'ﬂ' -

&

%_M_mfﬁ rotfaliomant = HAY O
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Weaker responses reflected that candidates mostly had difficulty in finding the monthly
instalments. Candidates failed to translate the phrase ‘followed by 5 equal monthly
installments’. Some candidates calculated monthly installments before subtracting down

payment while others did a lot of guess work after finding down payment.

Example:

20 X _NEop: Jnen

%0 w i YREH - L .
106

9.0

_,3_0; ¥ 20> PaEp,

(L N

-':50 w FHER . 1GUEY

L8 )

20 x291bo URE YR

I i

Question 5:

Candidates showed average performance in this question.

Question 5:

I. Saad uses a telecommunication service to make an international call. The charge for the
first 15 minutes is Rs 2.5 per minute. The charge for each additional minute is

Rs 1. Calculate the cost if he makes a 1 hour-long call.

ii. For a certain week, the number of hours worked by Maaz each day is shown in the table.

Day Monday | Tuesday | Wednesday | Thursday

Friday

Saturday

Number of Hours Worked 8 7 9 10

8

8

The rate of wage is Rs 215 per hour and is applicable as follows.

From Monday to Friday: the rate of wage applied will be doubled after 8 working hours.

On Saturday: the rate of wage will be three times for each working hour.

Calculate how much Maaz will earn at the end of this week.
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Better responses of part i reflected that candidates were able to understand the situation and
meaning of the phrases ‘for each of the first 15 minutes’ and ‘each additional minute’. They
used the given rates to find the cost of 1-hour long call. The same was observed in part ii,

candidates used the conditions for weekdays and weekends on the given rate of wage to find
the answer.

Example:

fif?afcdﬁi for fick 16 mintes= (6525 = B3t 5
Ehﬂrﬂfis for (emaining 45 mimdes= 4% P
Lost for 1 hour-lony cafl= 3% 5345
’ = Rs ¥2-5

.}7;&,7: !??andaq to Frialay:
DL E+IF S+ 9 B % /Wappﬁe«r ﬂorma-.fw&jf ratE)

D A% 2157 £ &Fiff/&fa.f zm-rwnfm‘g}? narmal Ym;ﬂ Lo ch

gmif Lowﬂ _____

S 3 ﬁwn K(Ext‘m) x &5 ?5&/;{;:;;&& peymal yali)=D RA 290

= B 290+ R85 Rﬁ G475 {Totod amont re.-:'ewe.n’)ﬁ

= So.lr.wdg_sﬂ R & hovn xbeqe /!zzpff normad yate Yo By S16D fn
2 _Total amownt receved & he weeK = Ry QWTC + €160 e Rylygas

__@; N aat ol eain £ 1M.835 I Thit_weekl . e

Weaker responses reflected that the candidates found working with the conditions given in
part i and ii a little challenging. In part i, most of the candidates were able to find the cost of
the first 15 minutes. After this, instead of finding the cost of additional 45 minutes,
candidates found the cost of 60 additional minutes due to which their final answer was the
cost of a call that is 1 hour 15 minutes long instead of the required 1 hour. In part ii, it was
observed that candidates had difficulty handling these factors at one time:

I. The rate of wage within working hours in weekdays

ii. The rate of wage after working hours in weekdays

iii.  The rate of wage for Saturday when there is no standard working hour duration
iv. The different number of hours worked each day by Maaz

Due to this there were many errors observed when candidates overlooked any of the above
factors.
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Example:

ey 1S winuden "[mﬁﬁb a5

ﬁ_&mgﬁ:z_g_l_/u& iﬂnalﬂaﬂ_b_g_@tgﬁ%w;ﬂ he -
= -5 K Lo
= 150 (ouls.

Mﬂhdwul 8% 15 = B \L80.
TMbdM 1K U5 - SeS
Wed - ax 1\5(1} £33 6
’ﬁ*—""‘ucim‘ ~ W0 152 qrop
{Jﬂdp"t = Byx2ig - €A V6RO

Qaﬂﬁ.h_ﬁ’ﬂu‘ 2 Bx1CC Y ==Ef5|,g,:;.

Total Mﬁg%ﬁz@u + 180C¢ + 2830+ f-llED-f- JE-%C_F + §J‘é{})
) = gy \Bog

ﬂqcia it de; 2 1'&!:;&'; odr Aloa «mﬁ. Mo Loeale .
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Question 6:

This question offered a choice between part a and b. Candidates chose to attempt part a more
than part b. In part 6ai and 6bi, candidates showed average performance but in part 6aii and
6bii, candidates showed poor performance.

Question 6a:

3

i.  Express in its simplest form.

5m~’

ii.  Simplify logs 5+ logs 1, giving your answer as an integer.

Better responses of part i exhibited the correct application of law of indices. Square root was
expressed as the exponent 1/2, and after cancellation the answer was found. A few candidates
were able to solve part ii using the correct rules of logarithms and finding answer as an
integer.

Example:
L Jisr?
. _HAw
. Jllgm’* n
_5H
. Hmt
- L5 ° L
. 15w
. 5w
. S P
_ beg S+ hbog 1 - .
7e '
= qu Sxl _
QE-

= log §-21 a..ns.
[
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Weaker responses of part i reflected misconceptions about the use of all the laws of indices.
There was a great confusion about when to add the indices and when to multiply. Candidates
had difficulty dealing with the square root. Many candidates carelessly did not change the
sign when moving m from denominator to numerator. In part ii, candidates were able to
express the given as a single term and then put logs5 = 1.

Example:
lasmi )k
‘C;m"’/
hsPm?™h 5 . iR
572 m V) sh m Th
=y 52 m3¥a2 > ¥y %2 32 ma
T omA "
=> &% mPx
= b&m
- [g% g4 l.ﬂj; i
log B 4| —_—
JE
kg et
lo NS - _
Question 6b:

7
. . : 1 . -
i.  Without using a calculator, show that — isequal to 2 2.

V128

ii.  Simplify and express each of the following as a single logarithmic term.

I. log3-log2
Il. log8+2log5
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Better responses reflected that in part i, candidates were able to express 128 as a power of 2.
Laws of indices were used correctly to find the answer. Part ii was done correctly by few
candidates who followed the instructions to express answer as a ‘single logarithmic term’.

Example:
HFIod -?
! o ] - I - 2. 2 ]
I k)
NITY (a7 % EXC
L log3-logl i1 Mark)
_I.&a 3
- ]
I log&+2log3 {2 Marks}
= Loy {h‘*i x §%)
=\oq [ 9 25)
= L&ﬂ D ﬁrns_
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Weaker responses in part i reflected that candidates had difficulty in expressing 128 as a
power of 2. Since the answer was given in the question, candidates used all kinds of incorrect
short cuts to get there. In part ii, it was observed that candidates were able to apply law of
logarithm on addition in part Il more easily as compared law of logarithm on subtraction in
part 1. The most frequent incorrect solution was log 3 —log 2 = log (3 -2) = log 1.

Example:

— -
Ny z AIEERY

O NAy = 58S I _

]

L logi-—-Tngl
@?(Bfi)
s logl |

II.  lopgk .« 2legs

g (8 1LY
&ﬁ(@f&f)
tog(%)
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Question 7:

An arithmetic sequence has a common difference of 10 and its 6™ term is 52. Find its 30" term.

This was a well attempted question.

Better responses exhibited that most of the candidates had knowledge of general term of
arithmetic sequence. They used sixth term to find the value of d. This value of d was used to

find the 30" term of the sequence

Example:
_on=z a +{n-114 320" levm:
Qg o + {r-1NO Qzags-—'—{lnza+('n-ﬂcj
$2=a +(6-1)dic Qaos 2 +(30-1}0
52 a4+ (B)C Q0 - 2.+ (29)1C
52=a + 50 Qp = 24 290
52 -80= 0 Aze = 290 .
2 -

Weaker responses represented that candidates were not able to use the given values in the
question to find the value of d. They used incorrect general form of arithmetic sequence,
arithmetic series and geometric sequence. Many candidates did not understand that first the
common difference needs to be found using the given data before finding the 30" term.

Example:

Qe =

a + {n-10d

On= =2+ (n-T)(10) |

On. 2 4 10n-1\0

Or\: Fﬂ_‘—’e-'"'jl' l||:3'—-"I| \D""\'

o
Qs 22410 Y0

Gﬁ'z. (;‘?-J + 1O
e —
Qﬁ. x LGB0 2y
Ama BHRam
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Question 8:
This question offered a choice between part a and b. A vast majority of candidates chose part
b which was also attempted better than part a.

Question 8a:
A binary relation fromA=4{0, 1, 2,3,4,5,6}toB={6,7,8,9, 10, 11, 12} is defined as
r={(0,6),(1,7),(238),(3,9), (4 10), (5 11)}.

I. Find the range of r.
ii. Other than r, write down any TWO binary relations from A to B.

iii. Is r a function? Justify your answer.

Better responses reflected good understanding of binary relations, its domain and range and
function. Candidates formed a variety of binary relations from A to B . In part iii, r was not a
function which only few candidates were able to identify. The correct reason was also stated.

Example:
i, Find the Tnge of . (1 Mark)
Lanag ok ¥z, LEONDNY
i {nher than «, write down any '1'WO hinary rclations from A o B, (2 Tarks)
ga. - LosGY L)WV _
L= §0,80 (0% B
U1, 1s rafupetion? Justily youe answer. (2 Marks)
S Y e o a funcron &g (_[Jr\d-.\hgﬂf_-. Nece coad ok 2 'E'U'ﬂibop
oxe ﬂﬂ'r Fulflled B - Domain 00,1 DM R * 'bq WWOTE G L
D SV oW be esynol o P
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Weaker responses reflected that most of the candidates had understanding of binary relation
and its domain and range but they were unclear about the conditions that should be fulfilled
for a binary relation to be a function. Many candidates stated that the given r is a function
with incorrect reasons. Due to the pattern of r, they assumed it as one-one function and
overlooked the fact that the domain of A is not equal to the domain of r.

Example:
L Find Ihwe runge ol (1 harky
ié:-’ﬁ: B!"l’:h:“} -
i, Oiher Wi r, wrils down any TWO binary relations from A o 5. (2 Mlarks)
E_Lﬁ?} ) iﬁﬂi, __
i, Bs ra luneiion? Jusify yvour answer. (2 Marky)
Mol Tk is wol Dwm& Im..n-q#,!_ .
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Question 8b:

IfU={12, 3,4 5} A={L 2 5}and B = {3, 5}, then show that (AUB) = A'\B'.

Better responses showed that candidates had understanding of operations on sets. The left
hand side and right hand side of the equation was solved separately, both came out as { 4 }.

Example:
L-W-& s | B G = ;
| @\\J‘P; Dﬁ’v\EJ
] BB = {288 u%s,@} N, U-d "
2 S L% 284 - ‘L‘nh%ﬁ’hf’l-im?f
e = V- Bubs RS

= d‘,‘.‘iba"-ﬂq‘rg\' %\111?»?_‘;_3\ ¥ 0-%

JEETN I

* ) - i'\ ) L)WK

LW s WL enee Nl ;%\%I}x&ﬁg},}ﬂ“)
L“’”E:'} - Nnp  ovewed! "-'*K""?\ﬁ{ \

Weaker responses displayed that candidates made careless errors while solving the two sides

(AU B) and A'~B’. Union was often replaced with intersection. Errors in finding difference
were common as well.

Example:

FU-A=§4 xa,q.ﬁj -§ 4253
A Y0 ¥
U-B -y h2Z 9,97 148]
-5 m,z,uj.
(AvB) = §n2,3.4%"

AMAR - iar?{jni |,2I'}ij_ |
= {43 . —

Page 22 of 29



Question 9:

Show graphically that the points (1, — 1), (2, 1), (4, — 1) and (5, 1) are the vertices of a
parallelogram. Also, find the coordinates of point of intersection of the diagonals.

This was a well attempted question.

Better responses plotted the given four vertices of parallelogram correctly on the given graph.
The x-axis and y-axis were made with proper scaling too. The diagonals were drawn by
joining the opposite vertices and the coordinates of diagonal were found.

Example:
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Weaker responses reflected weak skills of plotting on a graph paper. The positive part of x-
axis was left hand side instead of right hand side. The same was observed for y-axis. The
given ordered pairs were plotted incorrectly because candidates took the order par as (y, X)

instead of the standard (X, y). Many candidates lost the last mark because they did not know
how to draw the diagonal of a parallelogram.

Example:

Coordinates of point of intersection of the diagonals of parallelogram are: = \ D‘E:. @ W-awls
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Question 10:

This question offered a choice between part a and b. Candidates chose to attempt part a more
than part b. Both parts were well-attempted.

Question 10a:

i. A small office has a staff of 20 employees. The distance (in kilometres) of the office from
their homes is shown in the given table. Complete the table and find arithmetic mean for this

data.
Distance (km) ::::;Ei/res:

1-4 2
5-8 1

9-12 6

13-16 10

17-20 1

Total 2. f=20 -

ii. On a certain day, 9 friends spend the following amount (in Rupees) on a shopping trip.
3800, 2500, 1200, 1500, 1700, 2000, 1500, 3200, 3500

Find the median amount that was spent.
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Better responses in part i displayed clear concepts of method of finding mean from grouped
data. The frequency and class marks were found. The formula for grouped mean was used to
find the answer. In part ii, the data was first arranged in ascending or descending order. The
value of n is 9 so the middle value or median was found.

Example:

s om0 s | s

e v w5 | e
Todal Zf = 2} I — é{l= 135
= 4Py
2228 =g P
20
2o, iSon, ISt e, (Sovsyaop , 3aep, 3800 ,8%00
odelna ol sbsenewhion: athel . 4¢+) = Jo = S Fean
' F A &

The mesian iy Qoo
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Weaker responses of part i reflected that candidates could not identify what is to be found in
the blank columns. Some candidates found class boundaries while others tried but failed to
find mid-point. Minor errors were also common which led to incorrect answers. For part ii,
the most frequent error was that candidates did not arrange the data into ascending or
descending order before finding the median hence the most frequent incorrect answer was
1700. Due to this mistake a large number of candidates scored only 1 mark.

Example:
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Question 10b:
i If the mean of 5 numbers 18, k, 45, 30 and 8 is 25, then find the value of k.

ii.  The given data shows the height (in centimetres) of 27 plants. Complete the given table
and use it to construct a cumulative frequency curve.

Height (cm) 0-2(2-4|14-6]6-8|8-10

Frequency 2 5 10 8 2

Cumulative Frequency

Better responses of part i reflected clear understanding of arithmetic mean of ungrouped data.
The given numbers were added to find 101 + k which was substituted in the formula to get
the value of k. Part ii displayed correct drawing of cumulative frequency curve. Candidates
took class intervals on x-axis and cumulative frequency on y-axis to plot the cumulative
frequency that they found from the given data.

Example:
g+ 4 + 30 +8 ¢ 0 (A0 mean :__{.'_f =
rn
o?r ‘;ﬂ-; ¢ Qlf S - - —
G x €Ay ¢ valg of k
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Weaker responses of part i showed either error in arithmetic calculations or incorrect
substitution in formula. Part ii reflected the misconception among candidates that class
boundaries were required to draw the cumulative frequency curve (Since the class intervals
are continuous, class boundaries are not required). There were errors in scaling of graph such
as taking cumulative frequency on x-axis and class intervals on y-axis. Another common
mistake was that after plotting the point and drawing the curve it was not traced back to 0 on
x-axis. Many candidates plotted frequency curve, frequency polygon and cumulative
frequency polygon instead of the required cumulative frequency curve

Example:

€ 4uS420 48 - 10]
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